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AE A X - Kakudo Meizu — Angle Maze

Draw a line from the start (S ) to the goal (G)
* You can only pass through each circle once
* If you pass through a circle with a number, you must turn that many degrees

[ Question] O [Answer] @ ‘
© &

/ You can only pass through each circle once \

go through the
highlighted circle for

a second time. /

/lf you pass through a circle with a number, you must turn that \
many degrees

60 degree turn

90 degree turn

You don't
need to use
every circle /
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AE A X - Kakudo Meizu
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AE AL X - Kakudo Meizu — Angle Maze
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AE A X - Kakudo Meizu
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— Angle Maze
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AE AL X - Kakudo Meizu — Angle Maze
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AE AL X - Kakudo Meizu — Angle Maze
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XF3\ - Futago Shiki — Gemini Equations

There are two equations with missing symbols:

* Use the same symbols in both equations so that the answer is correct
e The symbols you can use are + — X = and ()

[ Question] [Answer]

1 1 2 =4 (1+1)><2 4
)| —bg

2 1 1 =3 (2+1) X1=3
/Use+— X = and () to make the equation equal four\
1 1 2 =4
1+1+2=4 1+1x2=4

O Correct equation X Incorrect order of
operations, this equals 3
Use the same symbols in both equations \

(1+1)X2 4 1@1+2

(2+1)x1—3 2@@}1

O Same symbols leferent symbols




N3 - Futago Shiki — Gemini Equations

(1)

2 2 =
4 2 =
(3)
8 8 =
4 2 =
(3)
4 2 6 8
9 7 2 4

(2)

8 5 2
6 1 2
(4)

3 2 3
2 2 O
(6)

2 7 4
8 4 10




N3 - Futago Shiki — Gemini Equations

(7)
2 2 4 =8
8 1 1 =9 (8)
6 1 2
6 4 17
(9)
1 2 3 =6
1 4 1 =4
(10)
7 1 13
4 3 10
(11)
4 1 2 =2
7 2 1 =35
(12)
8 3 20
3 5 18




N3 - Futago Shiki — Gemini Equations

(13)

6 4 2 =12

7 9 7 =9 (14)
8 4 O
8 2 2
(15)
6 3 8 =10
3 1 3 =0
(16)
7 4 9
3 2 S
(17)
3 3 2 =3
4 2 1 =4
(18)
5 1 11
8 7 50




N3 - Futago Shiki — Gemini Equations

(19)

1 5

(20)
9 9 3 =6
8 8 4 =4
5 1 1 =6
(22)
6 1 2 =3
8 2 2 =2
(23)
8 4 2 =4
6 3 2 =6
(24)
3 3 6 =0

8 3 4 =20




N3 - Futago Shiki — Gemini Equations

(25)
3 2 3 =15
4 2 2 =16
(26)
7 3 2 =
(27) 9 5 1 =
4 4 4 =4
6 3 9 =18
(28)
9 3 6 =1
8 2 2 =2
(29)
4 4 8 =8
6 1 5 =1
(30)
7 6 3 =39
8 7 4 =60




N3 - Futago Shiki — Gemini Equations

(31)
8 3 4 20
6 3 9 27
(32)
6 3 9 =18
3 2 2 12
2 4 3 14
(34)
5 4 3 =3
6 6 4 =3
(35)
9 4 2 18
3 3 1 6
(36)
2 2 2 =6

9 8 7 =65




N3 - Futago Shiki — Gemini Equations

(37)
12 2 3 =18

6 6 2 =18 (38)

8 16 4=96

9 8 4=68

(39)
28 8 2 =18

15 3 3 =6

(40)

18 3 24=30

6 3 1 =3

(41)
4 13 7 =24

12 8 6 =214




fZE /7 0 R - Baist Kurosu — Multiple Cross

Put the numbers O to 9 in the white squares

* Write a multiple of the number in a k below it
* Write a multiple of the number in a ‘ to the right of it

[ Question] [ Answer]

/ Position of the clues and answers \
Caution!

9 | is written I'6 5 jis written

O can't be used below the clue, 3 below the clue, 13
at the front

9 6 Jis written to
the right of the clue, 8 ;

9 |

S
5

I'5 ] is written to
the right of the clue, 5

N
VAN

Each answer is a multiple of the clue

K]

96is8x12

N5

9is3x3

65is13x5 /

/o i
©




fZE /7 QR - Baist Kurosu — Multiple Cross

(2)

(3) (4)

(3) (6)




fZE /7 QR - Baist Kurosu — Multiple Cross

(7) (8)

(9) (10)

AN
NN
N

(11)

ENAN
N |

NN |




fZE /7 QR - Baist Kurosu — Multiple Cross

(13) (14)
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fZE /7 QR - Baist Kurosu — Multiple Cross

(19)

X

A

(21)

AN
Nsod

m\h E‘ﬂhm
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(20)

(22)

MNEN
AN |

R

(23)

ENEN

(24)

S\
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fZE /7 QR - Baist Kurosu — Multiple Cross

(25) (26)

EL‘N% Et!h!
DNEAS BN |
AN | N AN

(27) (28)

N

(29) (30)

N




fZE /7 QR - Baist Kurosu — Multiple Cross
(31) (32)
NENN
N |
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(33) (34)
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fZE /7 QR - Baist Kurosu — Multiple Cross




{EE1] S, #7 - Baisu Rinku — Multiple Link

Place one of the numbers listed below into a space enclosed by a dotted line
* The number at the end of each arrow is a multiple of the number at the beginning

______

[Question] 10 <_| [Answer] 10
e E—» 20
D A
v V1V V]V
4 | (5]10]]20 4 (5] (10(]20

Place one of the numbers listed below the diagram
into a space enclosed by a dotted line

»

Number list
y 4

4_/l alls||M

10

20

_ 4

N—

~—"

* 10 has already been used
* Each number can only be used once

______

k! Caution ! You don't always need to use every number

The number at the end of each arrow is a multiple of
the number at the beginning

<

>

O

O

X2 X5
5 4 20
*10isa *20isa
multiple of 5 multiple of 4

X Incorrect

10

—

10 is not a
multiple of 4

<




{EE1] S, #7 - Baisu Rinku — Multiple Link

(1) (2)

y
N
4
N

4
o ¢

(3) (4)
Tles s o
A A
V V
3//8||9 4 15||8
(3) (6)
G —]p




{EE1] S, #7 - Baisu Rinku — Multiple Link

(1) (8)
7}» - | —>]—>
4 4
A4 A4
213 ||6 214 ||8
(9) (10)
«— =9 E—» -
N 4 N A
A4 4
3|69 S|[10]20
(11) (12)
4 N 4
A4 v




{Z#1] S, #7 - Baisu Rinku — Multiple Link

(13)

5110 30
—
A

4

7|8 |5 |63

(18) > 16
N 4
vV




{EE1] S, #7 - Baisu Rinku — Multiple Link

______

______

______

______

————————————

————————————

————————————




{EE1] S, #7 - Baisu Rinku — Multiple Link

(25) (26)
?F» ’ —! 92
</ .
4 V
19| |76 | |86 13] 23 |92
(27) (28)
</ </
A4 4
17|85 | 95 19| |20 | |87
(29) (30)
D —




{EE1] S, #7 - Baisu Rinku — Multiple Link

(31)
7 | | 47|98
(33)
29 | (47 | |83 | |94
(35)
-
18124 |76 |90

(32)

3|13 |65
(34)

15150 | |75 (|80
(36)

19129 |67 |87




{EE1] S, #7 - Baisu Rinku — Multiple Link

(37) (38)
:F» -— | —>ﬂ—>
/ </
A4
6| (10|]20 30 7| |21 (49|63
(39) (40)
= = E—» -
7/ 7/
4 4
15 (35|45 |60 8 ||16] 24|32
(41) (42)
S <—E - —>
4 /
A4 v
Q| |27 |5 |12 12 | |16 | | 84 || 96




EFO)PEER - Suji no Kaidan — Number Staircase

Write a number in each empty circle
* Each row can't have the same number more than once or a zero
* The numbers in each row increase by the same amount each time

[ Question] [ Answer]

There are
several 3s I Caution !

in this row
O cannot be used
X but you can use two

digit numbers

ﬁl’he numbers in each row increase by the same amount each tinh

Increasing by
2 each time

Increasing by
1 each time

Increasmg by
\ 3 each time /




F O)PBEER— Suji no Kaidan — Number Staircase

(1) (2)

0,020,

(3) (4)

8

(3) (6)




F O)PBEER— Suji no Kaidan — Number Staircase

(7) (8)
O
o
oYoYe
(9) (10)
o
@
A

(11) (12)




F O)PBEER— Suji no Kaidan — Number Staircase




F O)PBEER— Suji no Kaidan — Number Staircase




F O)PBEER— Suji no Kaidan — Number Staircase




F O)PBEER— Suji no Kaidan — Number Staircase

(31) (32)

(35) (36)



F O)PBEER— Suji no Kaidan — Number Staircase

(37)




MA7T v IS - Shikaku Katto — Quadrilateral Cut

Divide the shape up into rectangles which have areas matching the numbers below

[ Question] [ Answer]

3.5, 6

/ Divide the shape up into rectangles \

All are rectangles

O

\ This is not a rectangle

/ The rectangles have areas matching the numbers \

Area = 3 O
\ Area = 5 /




MA71 v b - Shikaku Katto — Quadrilateral Cut

(1)

(3)

(3)

C O

1,2, 3

2,3, 4

3.4,5

(2)
1,2, 3
(4)

=L

2,3, 4

(6)

3.4,5



MA7T v IS - Shikaku Katto — Quadrilateral Cut

(7)
1.4, 6
(9)
4,5, 6
(11)

(8)

L

3.4, 6
(10)
L
I_I
3.6,8
(12)




MA7T v IS - Shikaku Katto — Quadrilateral Cut

(13) (14)
1,8, 9
4,6,10
(15) 16)
6,812 4,5,15
(17) (18)
3,12,16 810,12



MA7T v IS - Shikaku Katto — Quadrilateral Cut

(19) (20)

|J

8,9,18

7,8, 21

(21)
(22) |

8,16,20

6,15, 24

(24)

(23)
1

8,12, 214

12,15,25



MA7T v IS - Shikaku Katto — Quadrilateral Cut

(25) (26)

M

1,2,3,4 1,2,3, 4

(27) — (28)

2,3,4,5 2,3,4,5

(29) (30)

3.4,5,6 3.4,5,6



MA7T v IS - Shikaku Katto — Quadrilateral Cut

(31) (32)

1,3.5,7 1,.4,6,9

(33) __I_ (34) —_— —

2,4,6,8 2,4,6,10

(35) (36)

4,6,8,10 36.9 10



MA71 v b - Shikaku Katto — Quadrilateral Cut

(37) 38  —
1,8,9,12
6,8,10,12
(39) (40)‘
4,9,14,16 3,6,14,15
(42)
(41)
|
|
6,8, 10,15

3.4,15,16



P XML - Kazu Sagashi — Quantity Search

e Use a 3 by 3 square to contain exactly the fruit listed

[ Answer]

[ Question]
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b - ——

= 2

Apples

Contain exactly the fruit listed

IIIIIIIII

Apples = 4/

=3

Apples

I Caution !

is smaller
than allowed

IIIIIIIIIIIIIIII

—_——tee A
I

I
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1

* Use a 2 by 2 square to contain exactly the fruit listed
Apples

P XML - Kazu Sagashi — Quantity Search

(1)
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* Use a 3 by 3 square to contain exactly the fruit listed
Apples = 1
H
I
N

P XML - Kazu Sagashi — Quantity Search

(7)
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P XML - Kazu Sagashi — Quantity Search

* Use a 2 by 2 square to contain exactly the fruit listed




P XML - Kazu Sagashi — Quantity Search

* Use a 3 by 3 square to contain exactly the fruit listed




P XML - Kazu Sagashi — Quantity Search

Use a 2 by 2 square to contain exactly the fruit listed

(25) Apples = Oranges

_____________

(27) Oranges < Apples

_________________

____________________

! | | | | !
! | | | | !
! | | | | !
[ 1 1 1 L ]
r T T T T

| | | | | |
| | | | I 1
1 | | | | !
= -4 - - -1 .l
- = = = -

1 | | | | !
1 | | | 1 !
1 | | | | !
= 1 1 L ]
L T T T

| | | | |
| | | 1 |
| | | 1 !
[ I I - -
v T T ™

| | | | !
| | | | !
| | | | !
PR SR S S g SR

(26) Oranges > Apples

_____________

(2 8) Apples > Oranges

-----------------

_____________________

o I S

r—"""““““ﬂ"“‘“—"‘"‘
1
1
1

b
T 7T"""71-"~-""71T—
L T e



P XML - Kazu Sagashi — Quantity Search

Use a 3 by 3 square to contain exactly the fruit listed

(3 1) Apples = Oranges (32) Oranges > Apples

_________________

e | @ 006
(33) Oranges < Apples (34) Apples > Oranges
© 00 6o CCOF @
&6 66 L@
o0 o 6 o6 @&
Obdbﬁ LMa=i;

__________________________________________

__________________________________________________

@ O

@G0 @ 0C

_________________________________________________



P XML - Kazu Sagashi — Quantity Search

Use a 3 by 3 square to contain exactly the fruit listed

(38) Difference = 2

1

(3"7) Difference
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(39) Difference =0
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B fZz3E L — Zukei Sagashi — Shape Search

= Make the shape described using only the vertices given

[Question) ¢ 777
S P

: |

.

I

| |

o - o

Isosceles Triangle

Example Shapes Isosceles Triangle

B

Warning! I
—_

I

Shapes can I
. -

be in any I

rotation. C __,___L_J

= Two equal sides

Rectangle Rhombus

*Four equal sides

* Four right—angles -Four right—angles -Four equal sides

. Right—angled
Trapezium Parallelogram Triangle

1l __1_ _1

——r——r——1

*One set of *Two sets of *One right—angle
parallel sides parallel sides




F23E L — Zukei Sagashi — Shape Search

(2)

1)

R
_T-T-TL
.
PR
T
SRR
e
!

Rectangle

Square

(4)

(3)

ﬁllﬂllqllﬁlla
_ I _ I _
R S
Tt
]
i )__i__4
N
_ I _ I _
. o S
_ | _ I _
SREN
e
]

i S B

R

o e ——

[ S

5 R Y S
o ~

© _|L|L|L||r| »

e G et SEEE

_ _ _ | _ _

e

o _ I I I I _

s vr

A O

R S S

o 6 1 I o o

Rectangle



B fZz3E L — Zukei Sagashi — Shape Search

C

10 @
_ I | _
]
_ I | _
———1—¢
b
IR
ISR
|
_I__l__¢

Right—angled
Isosceles Triangle

Right—angled

Triangle

(10)

o

)]
——Q————@—— C
_ﬁ _ ﬁ _ a_m
"
ol bs3
R
|-—f——f—4——{ ©
_ _ _ _ S
L N P T

=
ﬁIIOIIqIIqII_%c
_ | I | | <
e
_ _ _ _ [ -
l———1—®
_ _ _ _ | Q@
|——{—{—1 8
_ _ _ _ | @
o1 1 __¢ w

(12)

(11)

_—n—_—n———n—_—n—_..

I
*

-t —

l

Isosceles Triangle

Isosceles Triangle



B fZz3E L — Zukei Sagashi — Shape Search

(14)

(13)

Parallelogram

Trapezium

(16)

(15)

YU
i
-
e
o]
ARG
4
T
A
oo

Trapezium

Rhombus

(18)

(17)

I

I
?

I

I

I

I

I
@

I_

r T

_ _ I _ _
s
_ _ | | _ _
4
SERER
_ _ I I _ _
]
—l_e_l_i__4
R S
S O
O e
]
_ I I I I _
IR
_IIFII._II._II._II._

Rhombus

Parallelogram



B fZz3E L — Zukei Sagashi — Shape Search

(20)

(19)

Parallelogram

Right—angled

Triangle

(22)

(21)

R
————4
_ I I _
..
o114
B
R
T-TuT .f
_|L|L||r

Trapezium

nght—angled
Isosceles Triangle

(24)

(23D

Y
aEe
R
R
e

_TLIT -]
oo
o 4o

Rectangle

Square



B fZz3E L — Zukei Sagashi — Shape Search

(26)

(25)

ﬁllfllqllqll_
TnTLTL_TL
||T|TJ_|L
f “ “ r #
_ | | | _
o _l__1__1__¢
el et Sl Sl
_ I _ I _
RS
A S
bt
)]

Isosceles Triangle

Rhombus

(28)

(27)

_ﬂllﬂllfllﬁlla
e
IT-T-TL
T T-TL L
_|L||¢|L|L
o e e
_ I I _ _
!
_ I I _ _
N
R
RSN

Trape2|um

Parallelogram

(30)

(29)

o
bttt
.
e
g1
ﬂ||ﬁ||_.||ﬁ||‘_

bt i
S
_ | I I _
-
S U

Rectangle

Right—angled
Isosceles Triangle



B fZz3E L — Zukei Sagashi — Shape Search

(32)

Isosceles Triangle

(31)

(34)

(33)

il R . Sl
_ | | | _
-
_ | I | _
o
S
_ | | | _
__1__l__¢ _¢
el St St Rl 4
_ | | | _
e S
_ | | | _
S S
!
_ | | | _

o 1 1 _o

Trapezium

Parallelogram

(36)

(35)

—

I I
||.—||.—||
I |

_
1
i
e —

I
|
I
4
T
I
J

|

1

I
_

I

_
1

ht

e e — e — ——

—_ —

Right—angled
Isosceles Triangle

Rectangle



F24E L — Zukei Sagashi — Shape Search

(37)

(38)

it St Sl Sl S
el
_ _ _ _ _ _
I A
R
AN
_ | | | | _
o d_ 1 _ ¢

_ﬁllﬁllqll‘llﬁllf
R
IT-TLIYL
S —

N
S
_|L||TL|L||m_

Right—angled Triangle

Rectangle

| £
I N T R
A e R . -1
R N e A N
1 %
Al &
JERBEN
tYvrr v
_Tn.TnTnTnYL
e 8
- TL - fw

W) L
3L_T+_ L

PO O N N

A\ 4

(42)

(41)

===~ @ —1——
_ | | | | _
S
e
e B
R
_ | | | | _
I _§ _i__1
r—— @ — -1~ —®——
_ | | | | _
e
_ | | | | _
1
o ee i
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=AU - Sankaku Sagashi — Triangle Search

* Join together any three vertices to make a triangle with the area listed below

[ Question] . Shoh [Answer]. . @ ...
| ! | | |
| | | ! I | |
| | | I I | |
S S = ®
RN Dan
I VAl |
¢ | o . | o
Area 3
/ Area of a Triangle \
Method 1:
Use the formula
r———'r———"\
> Height 3 2 X 3 -2 = 3
(Base X Height = 2 = Area)
J

/ Method 2:

Subtract from total

F===T===7T~ =

: : A A )
Subtract the surrounding triangles from the whole rea 2 rea 1.5

\9—1.5—1.5—2=4 Area 4 /




B¥FL - Sankaku Sagashi — Triangle Search

(2)

(1)

T
I 1
1 I
1|||Jf|||4ﬁ||||__
" _

I

[ Y SR S
1 |
| |
| [
||||| Lol @
||||||||| - - |._
| I
| 1
L e

Area 2

Area 1

(4)

(3)

L il Rl Rty
I
| |
1 I
—_————t———
r -
| ¢
| 1
| 1
Fe—— @ ——t———
I
| “
I
......... o -9
® -
I
1 I
1 I
1|||Jf|||.||||__
I
1 I
1 I
o-——+——F—n
_ L4
1 I
1 I
IIIII flll.lll._

(6)

(3)

| — |||Jﬁ|||L
1 |
1 |
|
e e e
||||| ---@----
1 |
" !
p——— R S —
| |
| |
|
&IJTIOI.O_
1
" !
IIIII L - - I.I -

Area 3

Area 2
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(8)

(7)

® 1
1 I
I 1
I 1
1III4rIIItIIIL
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I 1
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I I
I 1
I 1
L fllltlll._
R —— o -
I 1
I 1
I I
pem—t et ———@
. I
I 1
I 1
@o-———+———~4———d
" 1
I 1
I 1
||||| L - -@---!

Area 1

Area 3

(10)

(9)
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1 |
1 |
1 |
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Area 2

Area 1



(14)

(13)

B¥FL - Sankaku Sagashi — Triangle Search

e BRRL JEEEEERL & 0

" M | . N "

r———t—-———at——- R N *III._ e

I | “ 4y} | I 4y} I

“ “ ! ﬂr-v ~ " “ ﬂr-v —~~

e < @ e < 0 &9
| “ - | “ =

G|||f|||$|||g ~ e @l __1 ~ _.|||r|||

e e . T e >0

" . N " S :

Y T < n eoe——+-—- III.__ <C — wlll'lllflll
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Area 1

Area 3




IIIIIIIIIIII

(20)
Area 2
(22)

(24)

Area 1

(23)

(19)
(21)

B¥FL - Sankaku Sagashi — Triangle Search

Area 8

Area 6

IIIIII
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(26)

(25)

Area 2

Area 1

(28)

(27)

IIIII

llllll

(30)

(29)

IIIII

IIIIII

Area 8

Area 6
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(32)

(31)

Area 2

Area 1

(34)

(33)
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IIIIII

(36)

(35)

Area 8

Area 6
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Area 1
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7K€ 2 & 72K — Suisé to Mizu — Water Tank

How much water is in each water tank?
* The number represents how many litres of water is in that row or column

[ Question] 5/6 [Answer] 5/6 ‘

E 1 E 1 litre of water

—h
II|II

—h
II|II
—h
II|II

/ The number represents how many litres of water is in that \

row or column

I
hes

With this column:
~— The topis 1,/ 3 litres

> The bottomis 1./ 2 litres
g The total is 5 /6 litres

. = /

ﬁCaution I Water flows down and takes the shape of the contain}

—h
II|II
II|II

—h
II|II

The height of the water

E will be the same in each

connected container

N - The .Iower connec.ted \/\\\ ~_
section must be filled to
support the water above E /

/
‘/




7K€ 2 & 2K — Suiso to Mizu — Water Tank

(1)

3/4

v
1/4=p | |
(3)

1

v
3/4 I
3/2 .
(5)

1/4 5/4

—t
| | |
|

(2)
5/4
1 -
(4)
3/2
1 i
5/4 i
(6)
l 3/4
1/2=9 |




7K€ 2 & 2K — Suiso to Mizu — Water Tank

(7) (8)
312 1
EE 4/3=p
776w f | -
9 1/2 ‘19o) 11/6
2/3=0 | E 4/3=»F E
2/3=h F 5/3=F [
(11) (12)
2/3 7/6 2/3 5/6
1 = 1/3=p




7K€ 2 & 2K — Suiso to Mizu — Water Tank

(13) (14) 3/2 3/4
5£4 5/4 .8
5/4=-» L —
- | 1/2=0 |-
(15) 2q (10 2
9/4 - o T=> -
5/2=9 [ o 3/4a=h |- |
(17) (18) £ o 11/a
4 1/2 +

||||||*_8
(&)
N
{

3/2




7K€ 2 & 2K — Suiso to Mizu — Water Tank

(19)

W

5/6

3/2

5/3

T T de=d

(21)

W

2 =P

i

(23)

W
~
N

N

ANRRN AREN *;
-

(2z0) 7/6 4/3

1/3=9

1/3

(22)

II|IIII|IIII|II«

7/3

2/ 3 =p

(&)

N

W

II|I|II|IIII|II«\




7K€ S & 72K — Suiso to Mizu — Water Tank

(25) (26)

9/4 1 2 Sj4 1
5/4=p | | O/4=p |
2= | | - P F
3/2 - 5/4 - __
(27) (28)

j ::/"2 3/2
1/2=p | [ Telp | C
s | -
1 . 3/4 -

(29) 3/2 3 (30) 744 5
0 S S e d B S 5

9/4 N = 5/2 _




7K€ S & 72K — Suiso to Mizu — Water Tank

(31)

N

7/3

1 =

3 =9

II|IIII|IIII|II*8

(33)

(&)
~
W
—h
W
~
(o))

||||| %

1/2=p

T T s

(35)

N

17/6

3/2=p

T T T e

(32)

W
N
~
~
(o))

1/ 2=

2 =

(34)

—h

T T T ] =
T T T &

—h
~
(o))
W
~
N

2/ 3=

4/3

(36)

T T g

8/ 3=p

5/3

||||| ||||| ||||| %8




7K€ 2 & 2K — Suiso to Mizu — Water Tank

(37)
8/5
2/3 =9
(39)
5/4 1/2
b
7/8 =
(41)
11/7 9/7
3/2=p

(38)
7/6

N

5/4

(40)
13/10

7/15

5/3

(42)

5/6

4/9




EI2NIFE - Doko Kana San — What Calculation?

e Add numbers O to 9 in the blank spaces to make a correct calculation
e O cannot be used at the start of a row or column
* The surrounding numbers go somewhere in the row or column indicated

[ Question] i'} [Answer] 3

00 | €

+ «5 + |5|«5
113

/ Make a correct calculation | Caution ! \

8 3 O cannot be
used at the

Correct start of the row
+ |5

e © Tors] X
N /

/ The surrounding numbers go somewhere \

in the row or column indicated

+

3 3 and 5 are in 3 There is no 3

the row or * — in the column

column indicated

indicated

}

8 7 X
+ [B)|<«5 + | 5/|<«5

S

112 /




EIQNIFE - Doko Kana San — What Calculation?

(1) (2)
« 2
+ «3 + «7/
«8
(3) (4)
«4 «5
+ + « 4
«6
(5) (6)
«3
+ «1 +

«9 «7




EIQNIFE - Doko Kana San — What Calculation?

(7)

(9)

(11)

4
i

<« 1

(8) 5

(10) 7

(12) 4
 }

«8




EIQNIFE - Doko Kana San — What Calculation?

(13) (14)
+ + «<8
«2
(15) (16)
«~6
+ «7 + «9
«3
(17) (18) 6
}
«8 «5
+ +

«4




EIQNIFE - Doko Kana San — What Calculation?

(19)

«7

(21)

«2

«5

(23)

<« 1

(20)

«3

(22)

(24)

«~ 6

«8



EIQNIFE - Doko Kana San — What Calculation?

(25) (26)
2,3
¥
«5
+ «7 +
<« 0 <« 8
(27) (28)
8 6
¥ ¥
«4
+ -2 +
«-6 «9
(29) (30)
4
¥
«1,3
+ + «7

«1,5




EIQNIFE - Doko Kana San — What Calculation?

(31) (32)
4,8 5
\ }
«-0
+ +
<« 1 +«-6
(33) (34)
1 7 6
\ 2 / \
«9
+ + «5
«4
(35) (36)
«-2.,9 «7
+ + <« 8

-2 <« 1




EIQNIFE - Doko Kana San — What Calculation?

(37) (38)
3 4,8
¥ }
7
+ <« 8 + «-2
+«7 «-3
(39) (40)
4,5
}
«4,7
+ «5 +
«0 +«- 3,6
(41) (42)
8 6
\ 20 /
<« 1 -6
+ + «-7.8




HOHE O3\ - Zero Zero Shiki — Zero Equations

Make equations with only the numbers given

 Write in as many extra O's as you like to make a correct equation

[ Question]

1 + | 2 + |3
[ Answer]

1 +/200 |+|30

231

231

e

Write in as many extra O's as you like

1

O

You don't need
to add anything

200

O

Two zeros
added

18

10

30)

O

\ X Do not add numbers which are not O

One zero
added

N

a

AU

Make a correct equation

1 + 200 |+
O Correct
10 [+ 2 +

30

300

X Incorrect, adds to 312

231

231

/
~




HOYB O3\ - Zero Zero Shiki — Zero Equations

(1)

3 |+|6 [+]|2 = 92
(2)

6 |+|1 +|3 = 64
(3)

3 |+]|1 +|7 = 47
(4)

5 |+|7 |+]|1 = 76
(5)

9 |+|4 |+]|1 = 95
(6)

6 |+|4 |+|3 = 94
(7)




HOYB O3\ - Zero Zero Shiki — Zero Equations

(8)

(9)

(10)

(11)

(12)

(13)

(14)

879

890

650

481

360

804

108



HOYB O3\ - Zero Zero Shiki — Zero Equations

(15)

6 |+|9 [+]|2 = 35
(16)

8 |+|2 |+]|3 = 31
(17)

9 |+|7 |+]|4 = 83
(18)

6 |+|3 |+|7 = 70
(19)

9 [+]|1 +|8 = 90
(20)

8 |+|2 |+]|3 = 31
(21)




HOYB O3\ - Zero Zero Shiki — Zero Equations

(22)

(23)

(24)

(25)

(26)

(27)

(28)

139

312

210

133

510

720

103



HOYB O3\ - Zero Zero Shiki — Zero Equations

(29)

9 |+|7 |+]|5 = 7509
(30)

6 |+|4 |+|3 = 940
(31)

3 |+|9 |+|5 = 125
(32)

7 |+|6 |+|4 = 800
(33)

6 |+|8 |+|4 = 414
(34)

4 |+|8 |+|7 = 140
(35)

7 +9 + |8 = 105




HOYB O3\ - Zero Zero Shiki — Zero Equations

(36)

3

(37)

(38)

(39)

(40)

(41)

(42)

92

76

95

42

8 6

84

53



HOYB O3\ - Zero Zero Shiki — Zero Equations

(43)
3 +|6 + |4 + | 1 =860
(44)
6 +|7 +|9 +|3 =826
(45)
8 +|7 +(6 +|3 =690
(46)
5 +| 4 +|9 +|3 =714
(47)
3 +|9 + 4 + |1 =404
(48)
7 +|8 + 1 +| 2 =171
(49)

2 +|9 + |6 +| 8 =700
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